C:h |dentifying Point of Intersection with Equations

Name:

For each system of equations determine the point of intersection in a graph.

1) y=125x-8
y = 0.25x + 0

3) { y=-2.25x - 3
y=-25x-4

5 [ y=-375x-5
{ y=-125x+5

7 y=07x-5
{ y=09%-7

9 ry=075x+1
y=175x+9

2) ry=08x+5
y=02x-1

4) y=55x-1
y=85x-7

6) r y=-06x+3
y=02x-1

8) { y=-2.25x+1
y=-4.25x - 7

10) ( y=-1.75x+8
{ y=-125x+4

10.

Answers
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For each system of equations deter mine the point of intersection in a graph.
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| dentifying Point of Intersection with Equations

Name:. Answer Key

y=125x-8
y=025x+0
1.25x- 8 = 0.25x+0
1x=8

1x=8

y = (1.25%8)- 8

y = (0.25%8)+0

y=-225x-3
y=-25x-4
-2.25x- 3=-2.5x- 4
0.25x =-1

Ix=-4

y = (-2.25%-4)- 3

y = (-2.5%-4)- 4

y=-3.75x -5
y=-125x+5
-3.75x- 5=-1.25x+5
-2.5x =10

Ix=-4

y = (-3.75%-4)- 5

y = (-1.25%-4)+5

y=0.7x-5
y=09%-7
0.7x-5=09x-7
-0.2x =-2

1x =10

y =(0.7x10)- 5
y = (0.9x10)- 7

y=0.75x+1
y=175x+9

0.75x+1 = 1.75x+9
-Ix=8

Ix=-8

y = (0.75%-8)+1

y = (1.75%-8)+9

2)

10) {

y=0.8x+5
y=02x-1
0.8x+5=0.2x-1
0.6x=-6
Ix=-10

y = (0.8x-10)+5
y =(0.2x-10)- 1

y=55x-1
y=85x-7
55x-1=8.5x%x-7
-3X =-6

Ix=2

y =(5.5%2)-1

y =(8.5%2)- 7

y=-0.6x+3
y=02x-1
-0.6x+3=0.2x- 1
-08x=-4

Ix=5

y = (-0.6x5)+3

y =(0.2x5)- 1

y=-225x+1
y=-4.25x -7
-2.25x+1 = -4.25x- 7
2x =-8

Ix=-4

y = (-2.25%-4)+1

y = (-4.25%x-4)- 7

y=-1.75x+8
y=-125x+4

-1.75x+8 = -1.25x+4
-05x=-4

Ix=8

y = (-1.75x8)+8

y = (-1.25x8)+4
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